Answer as many questions as you can.

Calculators should NOT be used.

For questions 1 – 18 tick the box that you think answers the question. There is no need to show any working.

1.
Simplify 
10 + (4 – 2) ( 6 – 18 ( 3

	-4
	– 48
	16
	22
	36
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2.
Simplify    [image: image1.wmf]21

4

7

3

-
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3.
Write the number  5.4966 correct to three significant figures

	5.49
	5.496
	5.497
	5.50
	6.00

	
	
	
	
	


4.
Write the number  5.4966 correct to three decimal places
	5.490
	5.496
	5.497
	5.500
	6.000

	
	
	
	
	


5. What is the prime factorisation of  60 ?

	2 x 5 x 6
	2 x 3 x 5
	3 x 4 x 5
	2 x 3 x 10
	2 x 2 x 3 x 5

	
	
	
	
	


6. Calculate 20% of £500

	£25
	£50
	£75
	£100
	£125

	
	
	
	
	


7.
What is  b  in terms of  a  if  2 a – 3 b = 4a + b ?

	b = 2 a
	b = – 2 a
	b = – ½ a
	b = ½ a
	b = a

	
	
	
	
	


8.
Simplify    a2 + b2 – (a – b)2
	A b
	2 a2 + 2 b2
	0
	2 a b
	2 a b – 2 b2

	
	
	
	
	


9.
Simplify    [image: image7.wmf]3
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10.
Express  c  in terms of  a , b , h  and  s  if  [image: image13.wmf]c
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11.
Express  h  in terms of  a , b , c  and  s  if  [image: image19.wmf]c
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12.
Factorise
x2 + 4 x –12 






 

	(x – 2)(x + 6)
	(x – 2)(x – 6)
	(x - 4)(x - 8)
	(x + 2)(x – 6)
	(x + 2)(x + 6)

	
	
	
	
	


13.
From your answer to Question 12, write down the solutions to   x2 + 4 x –12 = 0 


	- 4, - 8
	– 2 , 6
	– 2 , – 6
	2 , – 6
	2 ,  6

	
	
	
	
	


14.
Simplify      [image: image25.wmf]4
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	9
	3
	27
	2187
	243

	
	
	
	
	


15.
Write   [image: image26.wmf]4
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	x
	x3
	x7
	x6
	x11

	
	
	
	
	


16.
Simplify  [image: image27.wmf]y
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17.
If     f(x) = x2 + 5 x     what is     f(3) ? 



	24[image: image34.wmf]
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18.
If     f(x) = x2 + 5 x     what is     f( – 1) ? 
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For questions 19 and 20 write your answer in the boxes below 





19.
Write down the seven numbers (excluding 1) which divide exactly into 30







20.
Obtain the equation to the straight line, in the form  y = m x + c, passing through the two points  x = 4 , y = 4  and  x = 2 , y = 6 . 



END OF TEST
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